H o & & &

TG AT H 2 BIZEK) L 7oA Fn 6 48 BT il | 9e]) 1 25 T 52 A8 sE s (i RT3 12361 2 K DL I
WD HAGE 721348 (ROEMA—XOEBIZOWTIHEM TR < @8) 2oV T, JROHMFRD &
BUEET D,

Pk, BfiEEOREE LTARE 2@aEl L, YEERTAIRIO L, £8 182kE7 5,

4 FI064-07 H 16 H

REE AT RERRE B TR 7 4 %1

KA SMESCHABEIT S ENE
bRt 5 B i )=
TR FEHFTE R fA

IR (ERT HRIR BETHTBAET 2 5 M

K4 KiEEAHAS T

Bifettk K &

-1 - sz ekt BA6 R



N 2

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & i T (G E LM
TR (Fas BLA)
= 1 33, 374, 691
AR B
= 1 33, 374, 691
185 AR R
= 1 33, 374, 691
= T &= PSR Y
ifi 1 11, 063, 939 11, 063, 939
5 &= PSR Y
ifi 1 12, 252, 626 12, 252, 626
AT &= PSR Y
ifi 1 10, 058, 126 10, 058, 126
Pias HLR R
= 1 33, 374, 691
ERd
= 1 1, 458, 973
AR TERAE L
= 1 1, 360, 678
R A B E L
= 1 396, 563
= AR E
ifi 1 165, 227 165, 227
B R E 21h A LA
ifi 1 115, 668 115, 668
AT 21h A LA
ifi 1 115, 668 115, 668
Bl & - B AR L
= 1 682, 940
-1- ELARims  Abkizhh )y 80w &




N 2

it

£

THX Sy - THE - RSB - HBl MoK PO B B A HAm il i E (A5
b o i CVTr=7" W (M 7" Mysah=7" 1) 6kV 3
8mm2
(€20
m 10 6, 822 68, 220
JEAMEOAR CVTH =7 W (M7° Wby ah=7" 1) 6kV 3
8mm2
(&™)
m 10 6, 822 68, 220
BB CVTh=7" W (M 7" My ah=7" 1) 600V
200mm2
(£ yh)
m 10 15, 059 150, 590
BB CVTh=7" W (M 7" My 2h=7" V) 600V
250mm2
(£ yh)
m 10 17, 620 176, 200
SRR TV/=7" 1 (600VE” Vg ) 38m
2
(£ yh)
m 10 1,687 16, 870
r=7" ViR A JLER CVT 38sq (EBM)
&0 1 33, 484 33, 484
r=7" ViR AR QLB CVT 38sq (E44)
&0 1 37, 690 37, 690
F=7" Vi A AL B CVT 200sq
Bt #2)
&0 4 20, 207 80, 828
F=7" Vi A AL B CVT 250sq
Bt #2)
&0 2 25, 419 50, 838
EE S A RS T
= 1 185, 964
= E R
id] 1 77, 484 77, 484
B 21 H AR
id] 1 54, 240 54, 240
ERAR: S ER 2imm B LI
id] 1 54, 240 54, 240
Ficl 4 - B AR 2= T
= 1 95, 211

E s Abkei )7 &6 R




YN/

it

£

THEX Sy« TH - FERI - HH50 B PO B B G AT & # T (G E LM
T R AR 2= CVT 38sq
(€20
m 10 1,895 18, 950
EAMELAR RS CVT 38sq
(&™)
m 10 1,895 18, 950
ENBLAR R CVT 200sq
(£ yh)
m 10 2, 605 26, 050
ENBLAR R CVT 250sq
(£ yh)
m 10 2, 605 26, 050
ENBLAR R IV 38sq
(£ yh)
m 10 521. 1 5,211
T S g
= 1 98, 295
ik 1.
= 1 98, 295
ik (AR FY)6tH. ~240km
= 1 98, 295
B T HE
= 1, 458, 973
BTl TE:
= 128, 615
BTl TE:
= 1 3, 346
Htre m
= 1 3, 346
BRI MR G S AT —4E
D% -4
= 1 3, 346
HimE R (FE L)
= 1 125, 269
—_ 3 —_

E s Abkei )7 &6 R




HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM

Wi

= 1 1, 587, 588
BTk X=giiv

= 1 649, 206
G E

= 1 3, 899, 809

Hl R
= 1 28, 345
%DD %@%

= 1 3,871, 464
R 5]

= 1 6,136, 603
— R

= 1 1, 388, 706
T HAlik

= 1 40, 900, 000
THE B 2 %8

= 1 4, 090, 000
TG

= 1 44, 990, 000

-4 - E s Abkei )7 &6 R




